o Find the value.

(@ 6-9 =| -3 (b) 6+9 =| 3
(0 -6-9 =| -15 d -9+6 =| -3
) -8-3 = -11 f 3-7 =| -4
(@ -7-2 =| -9 (h) 0-4 =| -4
& -3+3 =| O () -5-7 =| -12

represents a 1-digit positive whole number and W represents a 1-digit

negative whole number. Write down § possible pairs of values represented

by £ and ¥

o | & WNlN| =
1
~




° According to a website, the temperature in Beijing, China on 22 January
2016 was -6 °C. The next day, on 23 January, the temperature dropped
by 7 °C. Then on 24 January, it rose 9 °C from the day before. Find the
temperature:

(a) on 23 January 2016
-3 °C

(b) on 24 January 2016
-4 °C
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